

つぎの計算をしましょう。

(1) $\underline{6\text{L}} - \underline{3\text{L}4\text{dL}} = 2\text{L}6\text{dL}$

	L	dL
	6	0
-	3	4
	2	6

(2) $\underline{17\text{L}} - \underline{9\text{L}2\text{dL}} = 7\text{L}8\text{dL}$

	L	dL
	17	0
-	9	2
	7	8

(3) $\underline{25\text{L}5\text{dL}} - \underline{7\text{L}5\text{dL}} = 18\text{L}$

(4) $\underline{15\text{L}3\text{dL}} - \underline{8\text{L}5\text{dL}} = 6\text{L}8\text{dL}$

	L	dL
	15	3
-	8	5
	6	8

(5) $\underline{21\text{L}3\text{dL}} - \underline{15\text{L}6\text{dL}} = 5\text{L}7\text{dL}$

	L	dL
	21	3
-	15	6
	5	7

(6) $\underline{23\text{L}6\text{dL}} - \underline{14\text{L}7\text{dL}} = 8\text{L}9\text{dL}$

	L	dL
	23	6
-	14	7
	8	9

